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aui=ll gogll a8UJIQ.1: Gravitational potential energy
In the following figure, where does the gravitational fad Lol 404 gl Bl K of e Jul Jea i
potential energy have the greatest value? ) )

5 /7 5 :dolsll

aylggll a>l,0Jl p;Q.2: Bike momentum
What is the momentum of 60 kg bicycle traveling west al) olaily & jatiy 60 kg WAl A0 5a Aal jal as 5l L
at a speed of 20 m/s? £ 20 m/s b lia de

®

30 kg.m/s
1200 kg.m/s

12 kg.m/s
300 kg.m/s



Speed (m/s) 4= i

Which of the following speed-distance graphs represents
a constant speed?

1
)
£
Distance (m) 4ad Distance (m) 4usd
A B
How is speed defined?
Acceleration/time
1.
Change in velocity/time
Distance/time
) Displacement/time

>

Speed (m/s) 4=

5/ 5 :dolsll

a8luwoll — ac |l wlu=ioQ.3: Speed-distance graphs

[
>

A8 Aoy (Jiah A0 Zilusall — el ilinia (o

Distance (m) Al

C

P w np e

O O W >

A
gl
A
> E -
Distance (m) dbwdl
D
5/ 5| :dolsll
ac,..JlQ.4: Speed
Pl pll Gapd s
sl ] ¢ Judd
ol [ dgaidlde ) 4
Sl ddlud)
DSIENG
5/ 0 :dolsll

henllg a>LuoJIQ.5: Area and Pressure



A car weighs 15000 N, and its fires are inflated to 230 kPa L I dsgiue Lslbly 15000 N e 53
a pressure of 23( kPa, How large Is the area of the Tl gl 1 jlad) ] dalia

car's tires that are in contact with the road?

Equation: P =L
A

s
65.2 m-
1.
)
0.065 m-
2.
)
345.0 m-
3.
a
0.35 m-
4.
5/ 5 :dolsll
allJl wl,x2iQ.6: Changes of State
What is the amount of energy needed to change il ) Al sale Jagad] Auglladl) 3L} ot L
a solid to a liquid at its melting point? *la)lguail da 0 2ie
Heat of fusion Sl )l
1.
Temperature 3all ds )
2.
Heat of vaporization Al 5l
3.
Absolute zero bl ol

4.

5/ 5 :dolsll



Joi » 10.0Q.7: Bernoulli

Bernoulli examined the relationship between ....... ? $ cvsens O ALl Jgiy (s
dEEE -
Fluid velocity and its pressure dhiiag wilal do
1.
Fluid temperature and its pressure iy ! 3
2.

Fluid pressure and its potential energy duniagll il gl L
3

Fluid temperature and its kinetic energy LSl iy ailall 3
4.

5/ 5 :dolsll

Q.8: Motion in two dimensions ¢pas 9 as ,=J|

Which of the following figures predict the motion of

a rubber band when its shoot § m/s horizontally?

B o b byl s it A0 I e

(Ll 5 s dea



4.
5/ 0 :doMsJl

Q.9: Speed - time chart ¢0Jl - ac,udl (soxio



The speed - time chart below represents a hiker s 86 px (i) Jals ) e gl isia T

movement in a trip. PUNgY
What is his acceleration from point D to E? g il ) p Akl po e s o
25
D
gy
%15 B :
3
6 10
n
b
0 :
0 10 N_ % 5
Time (s) o
. 125 m/s?
1.25 m/s?
B
0.8 m/s?
— 0.8 m/s?
4.
5/ 5/ :dolsl

Q.10: Kinetic Energy a.S =l aslll



A ball with a mass of (.12 kg is moving at a speed of 28 M5 doyur 012 kg b€ 38

28 mfs. what is the ball's kinefic energy? VPN A Y
1
KE=-my?
2
1 47.0)
94.0)J
2.
33.6 )
3.
50.2)
4.
5/ 0 :dol=ll

Q.11: Ice floating gl g2b



Which of the following statements explain the reason

fsLd B gl e 0l
why ice floats on water surface? ol s ol b s JG

] Water molecules line up so that only positive | Liocad| &asa BBYI (655 Cum slall iy Ui Y
and negative areas are near each other, oo g (o Ik it AL 31,y
2 | Empty spaces occur in the structure. Sy bl a5 |

3 only i 3

1
2 2and 3 352
3 land?2 251
4. 1,2and3 35251
5/0. :do sl

Q.12: Volume vs. Temp. graph é,,=Jl a>,5 Jilso px=dl (sixio



Using the graph below, which statement s true? fb o ol )l ol Sl ) i,

800 i
I/
_ /T
‘1 ‘ // | )
300 ———— ,/ | |
E ,l,a..:.u‘il "
- \ "i:"' z/’/
| ™. 200 /}"T T s
.:a' e e S e S S | “5’.',¢-'
podketel Ll L - *
R EEEEE 0 50 100 1550 200 250 300 350
Temperature (K) k)31 5
Gas A had the greatest increase in volume with il dap i)l iy wéi A jil g
an increase in temperature "
1.
Gas B had the greatest increase in volume with bl Al g paal il w"ﬁiB l C‘L
an increase in temperature “
2.
Gas C had the greatest increase in volume with bl il pa u-“ém j| C‘L
. an increase in temperature ”

The gases had the same increase in volume with il a1 e paad  gud i il cl

\ increasing temperature

5 / 0 :dolMsll

Q.13: speedometer ac,.ull slac jwlido



What is shown on the speedometer below? folal K Al e e o L

100 125 "

S w| ey 1
=) 4 / ' 10

“An 0
: 0

Instantaneous speed sl e

1.

Average speed Aau il de.

2

. Velocity directed to the north YN INA R

, Acceleration pJud
5/ 5 :dols=ll

Q.14: Heating curve of water sloJl Gz (sixio
Using the heating diagram below, which symbol of the Jia LN jeeyl) e ol colial il aie PRSI

following represents the melting point for water? Polall jleaaiyl days

Heating Curve of Water U jsveis asvie
140

20 2 T e T
100 1 .
60 T T — 1
40 — L1 N N S S =
20— ‘

1,30 i
Temperature (°C)

(°C) 5,

—20




5 / 0 :dolsall

Q.15: Helium balloon pg.ua gl

A helium balloon has a volume of 2.50 L at 101 kPa.

As the balloon rises the pressure drops to 95.0 kPa.

What is the new volume?

5/ 5 :dolsll

Q.16: Escalators &J,=iodl siU,pSJl 2,0l

101 kPa (glu i 3ic 2.50 L (gglaws aas gl (35l
faoal) sanll L.95.0 kP ) Jasll caiity ol ¢ g



Which of the following sentence is correct regarding the P FRVIN | g S TPWEN | dla.u Lagh dnpmm dles
two objects on the escalators shown in the figure below? ¢ JanYL Jall &Il

Same speed, different velocities ailiag dgatdl o pull o e )

1.

Same velocities, different speed el (fl dgaid e i
2.

Different velocities and speed g (g gl g puyg ol (Y
3.

Same velocities and speed e el g
4,

5/ 5 :dolsll

Q.17: motion and position for an object puw> gog09 &S ,> aog
Regarding the figure below, which of the following fasna A &l (gl aolinl JRall sy Lad
statements is correct?

2 ..
P “' E g

=

FINISH

[‘7. :

—
Vo




The total distance the runner traveled is 80 m, B0m b ol e i LS

and his displacement is 20 m east §220m &l
1.

The total distance the runner traveledis 20 m, 20m g sl gaid 4

and his displacement is 80 m east B80m &l )l
2.
. Thetotaldistance equals the displacement, and itis 50 m 50 m gty o e A )

\ The total distance equals the displacement and itis30m 30 m bl b g dal A &y sk A i)

5/ 0 :dolMsll

Q.18: Defining Energy aslall s, ,=
When studying energy, we imagine a boundary for that gl 138 cavall Al Jamy an 2gay Jiati Lald A3lal) Al xie

particular object, this portion of universe is called...... . s O g

1 Surrounding b
2' System albai
3' Energy ailkal)
. Work Sl

5/ 0 :dolJl



Q.19: Energy Types &aslkll glgsl
What is the energy that is due to chemical bonds?

Flastic Potential Energy
1.

. Electrical Potential nergy

3 Gravitational Potential Energy

Chemical Potential Energy
4.

5/ 0 :dolMsll

Q.20: Accelerating ball 5,S ¢ ,Luwg
Why is the ball accelerating in the following figure?

Because the ball is changing direction and velocity

1.

Because the ball has a constant velocity, but it is

, changing direction

Because the ball s speeding up in the same direction

3.

) g e o 1R
gl g

) gy
| wa il

ekl Al

il )l 35 S0 i Wl

e o iy s i 0

W L Al e wllds N
b M U

o i g o i 80



Because the ball has a constant velocity and fixed 8 KD syl e s Y

direction through the entire movement
4,

5 / 0 :dolsall

Q.21: work done Jgiuodl Jsll
A worker is pushing a lawn mower with a horizontal il Jadl Lo 20 N Ualsha ) gis uiall o a1 g e
force of 20 N, how much work does he do as he .

pushes the lawn mower 8 m to the left? f leell 8 M ADU 4ads Pla ol

80
. 1601
5/ 5 :dolsll
Q.22: simple machines alauww VI
Which one of the following is NOT a simple machine? (e Al g D las @
Lever dad,



Wedge Mig

2
Screw -3y
3. =
Scissors Uaiall
4,
5/ 5 :dolsll

Q.23: Gases’ laws: heating a balloon vgll s 1oljledl (wlgd

fa 3 L balloon at 20 °C was genfly heafed 0 30°C,  dap pi Cums ehus I L s ins (il (s g 1

What new volume would the balloon have? gl ol sl i 30°C 3120°C
1. 3.1L
3.8L
2.
4.5L
3.
5.2 L
4,
5/ 0 :dolsll

Q.24: Mechanical advantage a,S.5 Sl 8a5lal

If the mechanical advantage of a machine equals 4. 4 o Y G 50l STy
What does that mean? fully g
The input work is more than the output work @mn dll jsi Jodl ol
1.

The output work is more than the input work Jsadl Jadll jzsi Eslﬂ\ Judl

2.



The input force is more than the output force
3.

The output force i more than the input force
4,

5/ 5 :dolsll

Q.25: Pascal’s principle JISewb 1o
Which of the following uses Pascal’s principle?

Aerodynamics

Buoyancy
2.

Hydraulic ift

3.

il g e 4l i

i e 1 il

fUS ity L g
gl Kl
4l
Syl sl



